20248HAE 2k} 722 oA TAM SE(LALR)

HS EMY X At E AL 7HA HF A

1 Atetdl M3 olgl 2= elE=d4 18,500 1 18,500
2 & X7 HEH LelE U=S/U=t F0lA OEY SSs¢ 22,000 1 22,000
3 gretol = 2 &0t HE ZESH 16,800 1 16,800
4 Ol 2 QLE=S XIGHMIAILICH == OIOKII & == 17,800 1 17,800
5 0S8 Z =0l #=Z&IH0IAM JelefE SLSTA 17,000 1 17,000
6 HEN Ot0I0tS S UWOISXME Xt 07 delAEHECHE SZSEA 22,000 1 22,000
7 TS0 LH 365 or=d HZHAESA 18,800 1 18,800
8 T SE=AF clAlT 1 A== SR 20,000 1 20,000
9 T SE=AL dlAIL 2 MEA SR 20,000 1 20,000
10 gdotiE U= UE Ol1ZE fclstul 13,500 1 13,500
11 FHLU=HS el 0l=0l 2HEl 13,500 1 13,500
12 HIOXZ=2| &gt OFJIAIZE AFEAI Chakzhiet 17,500 1 17,500
13 o 230 et Ob== JHQI X QI 42t = A2 420l 2 16,800 1 16,800
14 aAAZ2 Jt= JIXt o= QL2 EDH SoHE 13,000 1 13,000
15 =0 &Zot= 0t0IJ+ ol LIth L+21OH S AL 17,500 1 17,500
16 U0l =2IE sSULE Sl JFAI=AHI01 12 st 19,800 1 19,800
17 0l otlt= ARZ Z 0 et Esrsul 16,000 1 16,000
18 HIOl A olslg s=Es 15,000 1 15,000
19 =9 Atel ol dAI=2 14,000 1 14,000
20 ZLA 0 =0letkLl =383 Chakzhet 13,000 1 13,000
21 SLA0 =0l 2 =33 Chakzhiet 14,000 1 14,000
22 OlchHel XAt =&S e=gu] 15,000 1 15,000
23 0ol 1 22t A OIS A 19,000 1 19,000
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